657-671-AX 2012.9.7 4:2 PM sl°o]x]657 3IHZFLdg At

Series CR ( C V)_AX

LEEEE e M K]

—o—

CLEAN
Clean Series Small Cylinder/Double Acting, Single Rod e
AR
Bore Size : @320, @25, @32, B340 CRlcY
AQ/ADQ2
%FE(CV)
©® CYLINDER IN LOW PARTICLE GENERATION FOR
CLEAN ROOM CRICV
® PISTON ROD IS MADE IN THE MATERIAL CRCV)
QUALITY OF STAINLESS STEEL TO ENHANCE NGQL
RESISTANCE AGAINST MOISTURE AND OTHER CR&CV)
CHEMICALS. NLCD
@ EXCLUSIVE GREASE USE, DUST GENERATION IS %%f PEERED
MINIMIZED WHEN CYLINDER IS ACTING.
® COMPACT APPEARANCE AND LIGHTWEIGHT,
EASY INSTALLATION.
How to Order
CR(CV) - AX B 20 125 A O ws O
5 ®© s
CR : Relief Port Type Blank : Rubber cushion type BraCket/PartS Number
CV : Vacuum Suction Type A : Air cushion type Bore size(mm) 20 25 ‘ 32 40
Air Gyiinder(Double Acting, ¢ For D008 Cul. only TUBer USNON B2 i e decion | TOM-L020B | TOM-L0328 | TCM-L040B
Single Rod) ) Flange TCM—-F020B | TCM—F032B | TCM—F040B
Basic type  Built-in magnet Series 3 Foot must be ordered in 2 units for 1 cylinder.
Blank : Standard type
Mounting XC16 : Copper—free
B : Basic type
L : Foot type in the axial direction Auto Switch
F : Type of flange at the rod side Blank : None Band to Attach Auto SWitCh/PaI'TS Number
G : Type of flange at the head side (Cylinder with built—in magnet)
BZ : Basic type of boss—cut Reed switch Tyo of atto stich Bore size(mm)
FZ : Flange type boss—cut - Band attached type(grommet) e 20 25 32 40
- W5
Bore Size 3 The standard length of lead wire is 0.5m i TBM2-020 |TBM2-025 | TBM2-032 | TBM2-040
20 : 20mm 25 1 25mm % For length lead wire over 3m, L is added
32 : 32mm 40 : 40mm to the end of part number.
(EX) WsL
Stroke(mm) 3 For length lead wire over 5m, please contact us.
20 25,50,75,100,125,150,175,200,250,300
251 25,50,75,100,125,150,175,200,250,300 [9] Number of Auto Switches
32:25,50,75,100,125,150,175,200,250,300 Blank : 2 pcs
40 : 25,50,75,100,125,150,175,200,250,300 S:1pc
N : N pcs
657

www. TPCpage.com
www. TPCpneumatics.com



657-671-AX 2012.9.7 4:2 PM sllo]x]658 =LA 1A} $ el @

Series CR(CV)-AX
M Cattions for GR(CVITCM2 Gyinder

This product is adapted in compliance with high

X X Bore size @20, @25, @32, 340
purity. Make sure to read the manual prior to
selecting and using the produce. Be sure to see Model Relief Port Type
the common cautions for clean room and 00e Vacuum Suction Type
actuator. Operation Type Double acting, single rod(non—Ilubrication)
. . 220, 25, 32 Rc(PT) 1/8
Precautions on Handling Port Size
240 Rc(PT) 1/4

O warning Fluid Air

(™ Rotating the cover is avoided. Proof Pressure 1.5MPa(15kgf/cm)
When the cylinder is installed or a pipefitting is Max. Operation Pressure 1.0MPa(9.9kgf/cm)
screwed into the poll, if the cover is loosened, ; :
the coupling portion of the cover could break. Min. Operation Pressure 0.05MPa(0.5kgf/crr)

@ When attaching air cushion, do not use it until Ambient and Fluid Temperature - C(°F) —10C~70°C (anti freezing)
cushion valve is completely closed. Otherwise, Cushion Rubber, air cushion
Damagihg cgshion packing may occur. Us§(—) Siifolte TolBEnes Move I mm
screwdriver fitting to the hole so as to adjust -
cushion valve, Piston Speed 50~750mm/s

@ When attaching air cushion, it is preferred not to
open cushion valve in excess. In event that
cushion valve is used in the state of complete
opening (more than 3 turns from complete
closure), it may get same to cylinder without
this phenomenon, damaging piston or cover

may result. Be sure that if product is used while

supplying compressed air without chocking the Parts list Standard type
above matter, cushion valve may spring out from Mounting type Attaching nut Rod end nut
cover. ) Basic type 1EA 1EA
®C§'r';fj the snap ring may fly out, please be T iection foot type 2EA 1EA
In event that the rod seal is replaced, be sure to Rod side flange type 1EA 1EA
carefully remove the snap ring, because the head side flange type 1EA 1EA
snap ring could fly out. . Boss—cut basic type 1EA 1EA
® Touching the cylinder during operation should Boss—out f ; A 1EA
be avoided. If the cylinder is operating at a high 0ss—cut Tange type

frequency, it is needed to be check that the
cylinder tube surface could become very hot
creating the risk of burns.

Compared to the Total Length of Cylinder Auto Switch Set Position

(Unit : mm)
Bore Size 220 225 232 240 ,
Downsize Lengih | 13 13 13 16 e

3% Boss—cut type
Boss for the head cover bracket is eliminated and the total length of the cylinder
is shortened.

\ |
Minimum Auto Switch Mountable Stroke & ! lze ‘Bo‘

D
]

(Unit : mm)
Auto Switch No of Auto Switch I D-C73K
Type With 2 pes. With n pes. With 1 pes. AO BO HS
W5 Different surface| Same surface |Different surface| Same surface 20 7 6 22.5
15 50 Ch 50+45(n=2)] 10 25 7 6 5
32 8 7 28.5
40 13 12 325

658




657-671-AX 2012.9.7 4:2 PM slo]x]659 3IHZFLlgat

LEEEE e M K]

Series CR(CV)-AX

Construction / Parts List

_ Standard Port
| Rubber Cushion Type |
Relief Port
@20, @25
Relief Port
‘ @
g I
@32, @40 /
(BES Cut Type)
No. | Description Quantity Material Note No. |Description Quantity Material Note
1 | Cylinder tube 1 Stainless Steel |Hard White Auminum 10 |Mini—y packing 1 NBR
2 | Rod cover 1 Aluminum Alloy  [Hard White Aluminum 11 |Piston gasket 1 NBR
—1 | Head cover—A 1 Aluminum Alloy  |Hard White Auminum 12 |Damper—A 1 Urethane Rod Side Attaching
3—2 | Head cover—B 1 Aluminum Alloy  |Hard White Auminum 13 |Damper—B 1 Urethane Head Side Attaching
4 | Piston 1 Aluminum Alloy Chromate 14 | Stopper 1 |Carbon Tool Steel
5 | Piston rod 1 Hard Chrome Plated 15 |Snapring A 1 Carbon Tool Steel| Nickel Plated
6 |Bush 1 Sintered Metal 16 |Wear ring 1 Resin
7 | Packing nose 1 Nickel Plated 17 |Rod end nut 1 Carbon Steel Nickel Plated
8 | Rod packing 1 NBR 18 |Magnet ring 1 Magnet
9 | Piston packing 1 NBR 19 |Mounting Nut 1 Nickel Plated

Air Cushion Type | Standard Port

(-3}

-

Rod Cover Port Section

=

=

!
(Boss Cut Type)
No. | Description Quantity Material Note No. |Description Quantity Material Note
1 | Cylinder tube 1 Stainless Steel |Hard White Aluminum 11 |Piston gasket 3 NBR
2 | Rod cover 1 Aluminum Alloy  |Hard White Aluminum 12 |Cushion packing 2 NBR
—1 | Head cover—A 1 Aluminum Alloy  |Hard White Auminum 13 |Cushion valve O—ring | 2 NBR
3—2| Head cover—B 1 Aluminum Alloy |Hard White Aluminum 14 [Snapring A 1 |Carbon Tool Steel| Nickel Plated
4 | Piston 1 Aluminum Alloy | Hard Chrome Plaed 15 |Cushion valve 2 |Free Cutting Steel| Nickel Plated
5 | Piston rod 1 |Hard Chrome Plated 16 |Cushion ring 2 Carbon Steel Nickel Plated
6 |Bush 1 Sintered Metal 17 |wearring 1 Resin
7 | Packing nose 1 Nickel Plated 18 [Rod end nut 1 Carbon Steel Nickel Plated
8 | Rod packing 1 NBR 19 |Magnetring 1 NBR+Ba Ferrite
9 | Piston packing 1 NBR 20 |Mounting nut 1 Nickel Plated
10 | Mini—y packing 1 NBR

CLEAN

"

CR} V)
AGZ/ADQ2

CR(CV)
AX

EEFV)

CRICV)

c

NGQAL

R(CV)
LCD

G
N
I

OW SPEED
CYLI%?DER

659

www. TPCpage.com

www. TPCpneumatics.com




657-671-AX 2012.9.7 4:2 PM slo]|x]660 =LA QA el @

—o—

Series CR(CV)-AX

Basic Type (B)

| Rubber Cushion Type |
Standard Port
& 2-Ro(PTP
% Subtense B2 G
fa 2 Relief Port M5 0.8 G
) Subtense B1 » - (920, 025 T -
) Relief Port MM I | FT] 7/
ONA M "
220, 525 8¢ E
- \é:4> —
AT N || 15
A Kl | F N :
H LG+Stroke F
LT+Stroke
(Unit : mm)
Bore Size | Standard Stofe| A AT | Bl | B2 | D E F|G|H|[H |H2| Q| K MM N | NA NN P LG | LT
20 2.5 118 |155[ 13 | 26 | 8 | 20 ‘fom 13| 8 |41 5| 8 |27 | 5 |M8x125| 15| 24 | M20X1.5 | 1/8 | 62 | 116
25 17;1‘2) 22 119517 |32 | 10 | 26 %] 13| 8 [ 45| 6 | 8 | 33 |55 |M10X1.25| 15 | 30 | M26X1.5 | 1/8 | 62 | 120
2 | a0 | 2 |195] 17 |32 | 12| 26 Y| 13| 8 | 45| 6 | 8 |37.5|55 | MI0x1.25| 15 |34.5| M26X15 | 1/8 | 64 | 122
40 250,300 | 24 | 21 | 22 | 41 | 14 | 32 90033 16 | 11 |50 | 8 | 10 |46.5] 7 | M14X1.5 |21 5|425| M32x2 | 1/4 | 88 | 154
Air Cushion Type
Relief Port M5 0.8 A1
Subtense B2 % 2—Rc(PT)P TA
— =~ B
GB _
H2 . 2-NN
Subtense B1 Hi H I/ %’7 | ‘ »
q I Bk il %
\ S
$ J | \
- | - %
MM/l a7 ﬂ
A ‘K‘ F N1 ‘ ! N2 15 | CINA |
LG+Stroke F
LT+Stroke
(Unit : mm)
Bore Size |StandadStoke| A | AT | B1 | B2 | D E F |GA|GB|GC| H |Hl |H2| @ | K MM N1 | N2 | NA NN
20 | ®%0 |18 [155| 13 | 26 | 8 | 20 Y| 13 |26 | 8 | 6 |41 | 5| 8| 27 | 5 | M8X1.25| 33 | 15 | 24 | M20X1.5
25 172?2) 22 119517 |32 | 10 | 26 %! 13 | 26| 8 | 6 | 45| 6 | 8 | 33 |55 |MI0X1.25] 33 | 15 | 30 | M26X1.5
2 | a0 | 2 |195] 17 |82 | 12 | 26 Y| 13 [ 26 | 8 | 6 | 45| 6 | 8 |37.5|55 |MI0X1.25| 33 | 15 |345) M26X1.5
40 | as0500 | 24 | 21 | 22 | 41 | 14 |32 % | 16 |31 |11 ] 6 |50 | 8 | 10 |46.5| 7 | M14x15 415215425 M32x2
Bore Size |Standad Stoke| P | LG |WAT | WA | WB | LT
20 25,50 1 1/8 | 80 (295|115 85 | 134
25 | ' Tyg | 80 [20.5|11.5] 10 | 138
125,150
3 | 7000 | 1/8 | 82 295 1.5 |11.5] 140
40 250,300 | 1/4 | 108 | 34.5 |14.5| 15 | 174

660




657-671-AX 2012.9.7 4:2 PM sllo]x]661 =LA QA $ easEl [

Series CR(CV)-AX

Rubber Cushion Boss-Cut Type/CR-AXBZ, CV-AXBZ CLEAN
CRBCV)
Standard Port AR
o) 2-Re(PT)P 2&5 A\[/))QZ
SN Subtense B2 G a
] S Relief Port M5 0.8 T CRI(CV)
H2
{ ‘ Subtense B1 b NN X 020 929 T AX
Relief Port e t——
R MMLK NS 7 CR‘_CV)
NA Dt ' - AG
220,825 S I T Ll
CR(CV)
Standard Port Relief Port z:ﬁ NGQL
AT 1.5 N
A K F N ﬁECDV)
H LG+Stroke
LT+Stroke LOW PEED
CYLI%?DER
232,240
(Unit : mm)
Bore Size|SendadSoke| A | AT | K | D | N | F E Bl (B2| MM |HI|H2|G|P| NN |@|NA|H/|LG|LT
20 25,50 118 |155| 5 | 8 | 15 | 13 |20 %os| 13 | 26 | M8X125| 5 | 8 | 8 |1/8| M20X15 |27 | 24 | 41 | 62 | 103
25 17:5"10; 22 [195|55 | 10 | 15 | 13 |26 %op| 17 | 32 |MI0X1.25| 6 | 8 | 8 | 1/8| M26x1.5| 33 | 30 | 45 | 62 | 107
| oo | 2 19555 | 12 | 15 | 13 |26 Y| 17 | 32 |M10X125| 6 | 8 | 8 |1/8| M26X1.5 |37.534.5 | 45 | 64 | 109
40 | 20300 | 24 | 21 | 7 |14 [215] 16 32 % 22 | 41 | M14x15 | 8 | 10 | 11 | 1/4| M32x2 |46.5|42.5| 50 | 88 | 138
Relief Port M5X%0.8
Subtense B2 \
O — T
=~ B
Subtense B1 Ho G ot
NN -
H1 \ ’7 ‘ ‘ (I)\
’J T q‘P‘P; 4
L Z’%
8‘ t j
MM n »/
— AT »745
A K F N | N 0O NA
H LG+Stroke
LT+Stroke
(Unit : mm)
Bore Size|SmdadSoke| A | AT | K | F [ N1 | N | D E |B1|B| MM |HI|H|G|GA|GB|P | NN |@|NA
20 | %50 |18 (155| 5 [13 33 | 15| 8 | 20 %ol 13 | 26 |M8x125| 5 | 8 | 8 | 26| 6 |1/8 |M20x15] 27 | 24
25 17:5"10; 22 [195|55 | 13 | 33 | 15 | 10 | 26 %l 17 | 32 |M10X125| 6 | 8 | 8 | 26 | 6 |1/8 |M26x15| 33 | 30
R | oo | 22 [195]55 | 13|33 | 15 | 12 | 26 %] 17 | 32 [M10X125] 6 | 8 | 8 | 26| 6 |1/8 |M26x1.5(37.5345
40 | 2030 |24 | 21 | 7 |16 [415[215] 14 | 32 p| 22 | 41 |MI4X15| 8 | 10| 11| 31| 6 |1/4 | M32X2 465|425
Bore Size | Standard Storke|  H LG |WAT | WA | WB | LT
20 | %50 | 41 | 80 |295 (11585 | 121
25 | 1% )45 | g0 |205(115] 10 | 125
125,150
32 | 7500 | 45 | 82 | 205|115 115127
40 | 250300 | 50 | 108 |34.5 [145| 15 | 158
661

www. TPCpage.com
www. TPCpneumatics.com




657-671-AX 2012.9.7 4:2 PM sllo]x]662 LA QA $ easEl [

Series CR(CV)-AX

Rubber Cushion Axial Direction Foot Mounting Type/CR-AXL, CV-AXL

o 2-Rc(PT)P
A _K_FG . G F
AT i Relief Port M5X0.8 SN
Subtense B1[™ 41 (220, 225) ‘ —
v N Q‘ i : :P =
3 (-
.y 4-@LD K%‘ o
Suptense B2 ﬁ AN
S II":/N N\ i mm} Mi\ \}\ ]
Y| Lx LG+Stroke XY - o BLC
T LS+Stroke | M
LT+Stroke
(Unit : mm)
Bore Size|SndadSioke| A | AT | K | F | N | D | Bl | B2 MM HI [H2 | G | P NN LC|LH|LK|LM| B |H
20 | 2650 |18 |155| 5 [ 13 | 15| 8 | 13 |26 | M8x125 | 5 | 8 | 8 | 1/8 | M0x15 | 4 | 25| 40 | 55 | 40 | 41
25 17255“1‘2) 2 [195(55 13 | 15 | 10 | 17 | 32 | M10x1.25 | 6 | 8 | 8 | 1/8 | M26x15 | 4 | 28 | 40 | 55 | 47 | 45
R | o | 22 [195]55 |13 |15 | 12 | 17 | 32 | MIOX1.25 | 6 | 8 | 8 | 1/8 | M26x15 | 4 | 28| 40 | 55 | 47 | 45
40 | 250300 |24 | 21 | 7 |16 |215| 14 | 22 | 41 | Mi4x15 | 8 |10 |11 | 1/4 | M32x2 | 4 | 30| 55|75 | 54|50
Bore Size|SandadStoke| S | LG | LA | Y X T | LS | LT
20 550 162 | 32|68 |8 |20 |2 |102]131
25 Z:‘;‘; 6 |32 68| 8 | 20|25 | 102135
| a0 | 64 [32]68 ] 8 |20 | 25 | 104 | 137
40 | 250300 | 88 | 32 | 7.0 | 10 | 23 | 27 | 134 | 171

Relief Port M5X 0.8 TA1
GA 2—Rc(PT)P
Subtense B A K | cB ‘ TA F .
ubtense AT H Gl. | 2-NN
H | +f> / ] _
<] T W 3
S ' i §\:
I
a5 2-gio | INU\ L@
MM /|Sutense B; a = b
ﬂi:\I":/ ‘N k | m i |
Y| X LG+Stroke “‘ X _|Y ONA 2~ GG
T LS+Stroke ‘ | ‘ K|
LT+Stroke LM
(Unit : mm)
Bore Size|StandadSoke| A | AT | K | F | Nl | N | D | Bl | B2 MM Hi |[H2 |GB|GA| G | P NN LC | NA | LH
20 5.5 |18 | 155 5 13 | 33 | 15 8 13 | 26 M8X1.25 5|8 |6 |2 |8 |18 ] M20xX15 | 4 |24]|25
25 1725;10; 22 1195|565 |13 |3 |15 | 10 17 | 32 [ MI0x125 | 6 | 8 | 6 |26 | 8 | 1/8 | M26x15 | 4 | 30| 28
32 | 1rsa0 | 22 [195]55 |13 |33 |15 | 12 | 17 | 32 | M10X1.25 | 6 | 8 | 6 [26 | 8 | 1/8 | M26X1.5 | 4 |345| 28
40 250,300 | 24 | 21 7 16 |41.5|215] 14 2 | 4 M14X1.5 8 | 10| 6 |31 |11 |1/4 M32x2 4 1425| 30

Bore Size|Standad Soke| LK | LM | B LD | Y | X [WAL|WB | WA | T [LS |LT
20 25,50 | 40 | 656 | 40 | 41 | 80 |32 68| 8 |20 [295| 85 |11.6] 21 | 120 | 149
8
8

T
—
@»
S

o5 | 100 |40 [ 55 | 47 |45 | 80 |32 |68 20 |205] 10 |115] 25 | 120 | 153
32 :j:;gg 40 | 55 | 47 |45 | &2 |32 |68 20 [205|115(115] 25 | 122 | 155
40 | pepary | 55 | 75 | 54 | 50 |108] 32 |70 | 10 | 23 |345] 15 [145] 27 [ 154 | 101

662




657-671-AX 2012.9.7 4:2 PM sllo]x]663 =LA A} $ el @

Series CR(CV)-AX

Rubber Cushion Rod Side Flange Mounting Type/CR-AXF, CV-AXF CLEAN

Standard port CRS:V)
2-0FD Relief port AR
/ (620, 025)
\ Ry
AQ2/ADQ2

(o)

2-Re(PT)P

Subtense B2w. 12

CR

Subl:;se B HI‘\ H’%‘* Reh(efgzgr’tgﬂg;o-ﬂ 4’[&( 2-NN AX
(T T

R Vi RICV

! 5 e

] CRICV)
)| ] MIE NGOL
H LG+Stroke F
L T+Stroke CR CV)
NLCD
I

- 0 9D
(Unit : mm) CYLW?DER

Bore SizeScadSoe] A | AT | K | F | FT | N | D E | G|BI|B| MM |HI|H|G|P]| NN |@l|FD]|NAJFL
20 | 3% |18 [155] 5 |13 | 4 |15 | 8 | 20 | 8 | 13| 2 |M8X125| 5 | 8 | 8 | 1/8|MOX15| 27 | 7 |24 | -
% 17255':2) 2 195|155 |13 | 4 | 15| 10 | 26 %o 8 | 17| 32 [M10x125| 6 | 8 | 8 | 1/8 |M26x1.5|33 | 7 |30 | -
2 | 150 | 22 |195]55 |13 | 4 | 15 |12 | 26 % 8 | 17| 32 [MI10X125| 6 | 8 | 8 | 1/8 | M26X1.5(37.5| 7 |345| -
40 | osos0 |24 |21 | 7 [ 16| 5 [215) 14 | 32 %, 11 22| 41 [miax15] 8 | 10| 11| 14| M3x2 [465] 7 |425) 36

Bore Size| Standad Soke| FK | FM | B H | LG | LT

20 .50 160 | 75 | 34 | 41 | 62 | 116

25 | ™ Teo | 75 40| 45 | 62 | 120
125,150

32 | 175000 | 60 | 75 | 40 | 45 | 64 | 122
40 | 250300 | 66 | 82 | 52 | 50 | 88 | 154

7 Relef Port M5X0.8
Y 4\‘ il 2-Re(PTIP
\/\ \ Subtense B2 GA WA
N ) @/ Subtense B Hos = / G|= 2-NN
i &\E T Hi ‘ N
NN r|iu T T
& i ki il =
i g §
220-832 4 U (\:ﬁ ‘ | |
/| AT FT
Standard port TTA T k| —H=— N N || 15
H LG+Stroke F
LT+Stroke
(Unit : mm)
Bore Size|StandadStoke| A | AT | K FIFT | N\ N D E B1 | B2 MM Hl |H2 |GB|GA| G | P NN
20 | %50 118 |155| 5 [ 13| 4 | 33 | 15| 8 | 20 % | 13|26 | MBX125 | 5 | 8 | 6 [26| 8 |1/8] M20X15
25 :;‘f; 22 [195(55 |13 | 4 | 33 | 15| 10 | 26 %yp |17 |32 | MI0X125| 6 | 8 | 6 |26 | 8 |1/8| M26x15
32 175:200 22 1195|155 |13 | 4 33 15 | 12 26 90033 17 1 32 | M10X125| 6 | 8 | 6 |26 | 8 |1/8| M26x1.5
40 | ssoa0 |24 | 21| 7 | 16| 5 |45 215] 14 | 32 % | 22| 41| Miax15 | 8 [ 10| 6 |31 | 11| 1/4] Mm32x2
Bore Size| StandardStoke| @1 | FD | NA | FL | FK | FM | B H | LG |WAT| WA | WB | LT
20 5.5 | g7 7 |24 | - |60 | 75|34 |4 |8 [295/11.5|85 134
25 17255"105(; 33| 730 |- |60 |75 |4 | 45|80 205 115| 10 | 138
32 | o0 [375| 7 [345| - |60 | 75 | 40 | 45 | 82 205|115 |15 140
40 250,300 |46.5| 7 |425| 36 | 66 | 82 | 52 | 50 | 108 |34.5|14.5]| 15 | 174

663

www. TPCpage.com
www. TPCpneumatics.com




657-671-AX 2012.9.7 4:2 PM sllo]x]664 LA QA $ easEl [

Series CR(CV)-AX

Rubber Cushion Head Side Flange Mounting Type/CR-AXG, CV-AXG

Reliel port Standard port

(220, @25)

2-Re(PT)P

Relief port M5X0.8
Subtense B1 22NN G 720,075 Subtense B2
WTENH
SRRt e
N -/
| AL, |
N LG+Stroke
[T+Siroke

(Unit : mm)

Bore Size |StandadStoke| A | AT | C F FT N D E B1 | B2 MM Hi |H2 | G| P NN | | FD | NA | FL
20 | %5 |18 [155] 5 |13 | 4 | 15 | 8 |20 "y |13 | 26 | M8X1.25 | 5 | 8 | 8 |1/8| MOX1.5 |27 | 7 |24 | -
25 17;110:0 22 1195[55 | 13 | 4 | 15 | 10 [ 26 % | 17| 32 [M10X125| 6 | 8 | 8 |1/8| M26x15| 33| 7 |30 | —
32 | 7000 | 22 |195|55 | 13| 4 |15 |12 |26 oo | 17 1 32 [MI0X1.25| 6 | 8 | 8 |1/8| M26x15 |37.5| 7 |345] —
40 250,300 | 24 | 21 7116 | 5 215 14 |32 % | 22 | 41| M14X15 | 8 | 10 | 11 | 1/4| M32x2 [465| 7 |42.5| 36

Bore Size |Standad Soke| FK | FM | B H | LG | LT

20 .50 160 | 75 | 34 | 41| 62 | 116

25 | ™% Teo | 75 |40 | 45 | 62 | 120
125,150

32 | 175000 | 60 | 75 | 40 | 45 | 64 | 122
40 | 250300 | 66 | 82 | 52 | 50 | 88 | 154

2FD

Relief port M5X 0.8 WA
Véﬁ 2-Re(PT)P =] Subtense B2 -\
Subtense B . 2-M\ 8 _H27
LILI
gl o
&\, 2 7 [ - - | »
i /| _at i 1
K[| F N1 N
A H " LG+Stroke I. FT
LT+Stroke
240 (Unit © mm)
Bore Size|SencadSote| A | AT | K | F | FT | N1 | N | D E B | B2| MM |HI|H2|GB|GA| G |P | NN
20 | 2% |18 |155| 5 | 13| 4 | 33 | 15| 8 20 %0 | 13| 26 | M8X125| 5 | 8 | 6 |26 | 8 |1/8]M20x1.5
25 17255"10500 22 (195(55 |13 | 4 | 33 | 15 | 10 | 26 % | 17 | 32 |Mi0X125| 6 | 8 | 6 | 26| 8 | 1/8 | M26x1.5
3 | s |22 [195]55 |13 | 4 |33 | 15| 12 | 26 %y | 17 | 32 |MI10X1.25| 6 | 8 | 6 | 26| 8 |1/8 | M26X15
4 | o000 |24 | 21 | 7 [ 16| 5 |415|215] 14 | 32 % | 22 | 41 | MI4x15| 8 | 10| 6 |31 | 11 |1/4] M32x2

Bore Size|StandadSoke| @1 | FD | NA | FL | FK | FM | B H | LG |WAT| WA | WB | LT

20 | %0 o7 | 7 |24 - |60 |75 |34 4 |80 [205]115]e5]13
25 17255110500 3| 7 |30 |- |60 |75 4|45 |8 |205/11.5 10138
82 | ysao |375| 7 [345| - |60 | 75 | 40 | 45 | 82 |295|115]115] 140
40 | 20000 [465| 7 |425| 36 | 66 | 82 | 52 | 50 | 108 345|145 15 | 174

664




657-671-AX 2012.9.7 4:2 PM slo]x]665 =LA} $ L C MK
" |
Series CR ( C\/) AX W
CLEAN

Clean Series Air Cylinder/Double Acting, Double Rod GG
Bore Size : @320, @25, @332, B340

5 (2/ADQ2
CR(CV)
AX

@ CYLINDER IN LOW PARTICLE GENERATION FOR
CLEAN ROOM CRICV

@ PISTON ROD IS MADE IN THE MATERIAL CR(C ]
QUALITY OF STAINLESS STEEL TO ENHANCE NGQL
RESISTANCE AGAINST MOISTURE AND OTHER Réc
CHEMICALS. NLCD

@ EXCLUSIVE GREASE USE, DUST GENERATION IS | LI SPEED

CYLINDER
MINIMIZED WHEN CYLINDER IS ACTING.
® COMPACT APPEARANCE AND LIGHTWEIGHT,
EASY INSTALLATION.
How to Order

(1) Clean Series [6) Series Bracket/Parts Number

CR : Relief Port Type Blank : Standard Type

CV : Vacuum Suction Type XC16 : Anti Freezing Bore size 20 25 ‘ 32 40
Air Cylinder(double acting, Auto switch Foot in the axial diection | TCM—L020B | TCM—L032B | TCM—L040B

single rod) Blank : None Flange TCM-F020B | TCM—F032B | TCM—F040B

Basic type : Built-in magnet (cylinder with built—in magnet) % Foot must be ordered in 2 units for 1 cylinder.

Reed switch

Mounting - Band attached type(grommet)

B : Basic type - W5

L : Foot type in the axial direction ¥ The standard length of lead wire is 0.5m :

F : Type of flange at the rod side 3% For length lead wire over 3m, L is added Band to Attach Auto SWltCh/PaftS Number

to the end of part number. (EX) W5L

Bore Size 3 For length lead wire over 5m, please Tyoe of Auto S Bore size (mm)

20 : 20mm 25 1 25mm contact us. BEBQIA ORI 20 25 32 40

32 1 32mm 40 : 40mm

Number of Auto Switches W5 TBM2-020 |TBM2-025 |TBM2-032 |TBM2-040

Stroke(mm) Blank : 2 pcs

20 25,50,75,100,125,150,175,200,250,300 S:1pc

251 25,50,75,100,125,150,175,200,250,300 N : N pcs

32:25,50,75,100,125,150,175,200,250,300

40 : 25,50,75,100,125,150,175,200,250,300

665

www. TPCpage.com
www. TPCpneumatics.com



657-671-AX 2012.9.7 4:2 PM s°]x]666 3I+ZFLls At

Series CR(CV)-AXW

—o—

LEEEE e M K]

W Cautions for CR(CV)AXCyiinder

This product is adapted in compliance with high

Specifications

) ) Bore size 220, @25, @32, B340
purity. Make sure to carefully read the manual prior
to selecting and using the produce. It is needed to Model Relief Port Type
see the common cautions for clean room and oce Vacuum Suction Type
actuator. Action Double acting, single rod(non—lubrication)
. . 220, 25, 32 Rc(PT) 1/8
Precautions on Handling Port Size
240 Rc(PT) 1/4
© warning Fluid Air

1. Do not rotate the cover.

While the cylinder or screwing a pipefitting into
the poll is being installed, if the cover is
loosened, the coupling portion of the cover
could break.

2. If air cushion is attached, using it is avoided
until cushion valve is completely closed.
Otherwise, damaging cushion packing results.
Use(-) screwdriver fitting to the hole so as the
adjust cushion valve,

3. When air cushion is attached, opening cushion
valve in excess should be avoided. When it is
needed to use cushion valve in the state of
complete opening(more than 3 turns from
complete closure), it gets same to cylinder
without cushion and subject to excessive
shock. With this phenomenon, damaging piston
or cover results. If product is used while
supplying compressed air without chocking the
above matter, cushion valve may spring out
from cover.

4. Be careful with the snap ring that could fly out.
In order to replace the rod seal, it is needed to
be careful with the removal of the snap ring
because the snap ring could fly out.

5. Touching the cylinder during operation should
be avoided. When the cylinder is operating at
a high frequency, it is needed to be aware
that the cylinder tube surface could become
very hot creating the risk of burns.

Proof Pressure

1.5MPa(15.3kgf/cr)

Max. Operation Pressure

1.0MPa(9.9kgf/cr)

Min. Operation Pressure

0.05MPa(0.5kgf/cr)

Ambient and Fluid Temperature - C(°F)

—10C~70°C (anti freezing)

Cushion Rubber, Air Cushion
Stroke Tolerance S mm
Piston Speed 50~400mm/s

Mounting Type and Parts List

Parts List Standard Type
Mounting Type Attaching Nut Red End Nut
Basic Type 1EA 2EA
Axial Direction Foot Type 2EA 2EA
Flange Type 1EA 2EA

Rod End Nut Attaching Nut
_ d 1
A ] A
K\w ;
Jle ‘ N i
- A A
(Unit : mm) (Unit : mm)
No. Bore Size(mm) | A © D d J No. Bore Size(mm) | A @ D d d
TNT—02 20 13 15,5 | 125 M8x1.25 5 TSN—-020B 20 26 | 30 | 25,5 | M20x15 8
TNT-03 25,32 17 119.6 | 16.5 M10%1.25 6 TSN—-032B 25,32 32 | 37 | 31.5 | M26%X1.5 8
TNT-04 40 22 [254 | 21.0 M14x1.5 8 TSN—-0408B 40 41 | 47.3 | 40.5 | M32x2.0 | 10

666




657-671-AX 2012.9.7 4:2 PM sllo]x]667 LA Q) A} $ el @

Series CR(CV)-AXW

Construction/Parts List CLEAN
CRS:V)
Relief Port AR
W CR} V)
o0 00600 mema/(u@o ) AQZ/ADG?
‘ ) ‘ CRICV)
@20, @25 k@m H AX
Standard Port ) CR CV)
Relief Port HH AG‘_
CR(CV)
NGQL
CR(CV)
NLCD
232, 340 Lowr%)EED
CGYLINDER
No. | Description Quantity Material Note No. | Description Quantity Material Note
1 | Cylinder tube 1 Stainless Steel 9 | Mini_y packing 2 NBR
2 | Rod cover 2 Aluminum Alloy  |Hard White Aluminum 10 | Piston gasket 1 NBR
3 | Piston 1 Aluminum Alloy Chromate 11 | Damper—A 1 Urethane Rod Side Attaching
4 | Piston rod 1 Stainless Steel | Hard Chrome Plated 12 | Damper—B 1 Urethane Head Side Attaching
5 | Bush 2 Sintered Alloy 13 | Snap ring A 2 |Carbon Tool Steel| Nickel Plated
6 | Packing nose 2 Rolled Steel Nickel Plated 14 | Rod end nut 2 Carbon Steel | Nickel Plated
7 | Rod packing 2 NBR 15 | Magnet ring 1 NBR+Ba Ferrite
8 | Piston packing 1 NBR 16 | Mounting nut 1 Carbon Steel
Basic Type/CR-AXWB, CV-AXWB
Standard Port
o8
ﬁ H2
\ j Stbtense B2 3 Relief port M5x0.8 G
RS o Pt SublensaB1 ‘ (020, 225 R S
S I— L / MM
Ha T T
@20, @25 " F:\ ' T ! ' ( T i ) 7 ;
S = i —¥ ttts
Standard Port 4. A —
_ / ?J t | | ik
07 SN |
SR MM
% J L | ‘ 15 .
A K| 4 N N A KA
H LG +Stroke H+Stroke
LT+2 X Stroke
@32, 340
(Unit : mm)
Bore Size|Sandad Stoke| A | AT | BT | B2 | D E F 1 G|H]|H |H| Q| K MM N | NA NN P |LG|LT
20 .50 118 |155| 13 | 26 | 8 |20 90‘033 1318 | 41| 5| 8|27 | 5 | MBx125 | 15 | 24 | M20x15 |1/8| 62 | 144
2 17:5"10; 22 [195| 17 | 32 | 10 |26 %y | 13| 8 | 45| 6 | 8 | 33 | 55| MI0x1.25 | 15 | 30 | M26x1.5 |1/8 | 62 | 152
32 175:200 22 |195| 17 |32 | 12 | 26 90‘033 131 8 | 45| 6 | 8 |37.5/ 55| MI0Xx125 | 15 |34.5| M26x15 |1/8| 64 | 154
40 250,300 | 24 | 21 | 22 | 41 | 14 |32 90‘033 16| 11 | 50 | 8 | 10 |46.5] 7 | M14x15 [215[425| M32X2 1/4| 88 | 188
667

www. TPCpage.com
www. TPCpneumatics.com




657-671-AX 2012.9.7 4:2 PM 50| 21668

R R HE R

Series CR(CV)-AXW

—o—

LEEEE e M K]

Rubber Cushion Axial Direction Foot Mounting Type/CR-AXWL, CV-AXWL

Standard Port
’C N Relief port
S /‘ 5| ” A HK F Q_H;:\(:T[)JZITMSXOE Histore
it Subtense B1 AT 1 [TRZ|G 2, 05) GIE,, 2 KA
K hJe-mec 2 RN \ / AT |MM
" i [T N
220 @25 o o N o
S i €x [
/St%lenseBZ ‘ﬁ =i Y
5;:J N ‘N
bolyx = LG+Stroke ~= X _1Y]
T LS+Stroke T+Stroke
LT+2X Stroke
(Unit - mm)
Bore Size|Standard Stoke| A AT K F N D Bl | B2 MM Hl [H2 | G | P NN LIC[NA|LH|LK|LM| B
20 6.5 |18 | 155 5 13 | 15 13 | 26 M8X1.25 51 8| 8 |18| M20X15 4 |24 | 25 | 40 | 55 | 40
25 17255;110500 22 (195565 |13 | 15 | 10 17 1 32 | M10x125 | 6 | 8 | 8 | 1/8| M26X1.5 4 | 30| 28 |40 | 55 | 47
2 | ysao | 22 19565 [ 13 [ 15 | 12 | 17 | 32 | MI0X125 | 6 | 8 | 8 | 1/8| M26X1.5 | 4 [34.5] 28 | 40 | 55 | 47
40 250,300 | 24 | 21 7 16 1215 14 2 | 4 M14X15 | 8 |10 | 11 | 1/4 M32x2 4 |425] 30 | 55 | 75 | 54
Bore Size |StandadSoke| H | LG | LA | LD | Y X T | LS| LT
20 25,50 4 62 | 32|68 | 8 |20 | 21 | 102 | 144
2% 17;110500 55 |62 |32]68] 8 20|25 [102]15
% | sao | 45 | 64 |32 /68| 8 |20 | 25 | 104 154
40 250,300 | 50 | 88 |32 |70 |10 | 23 | 27 | 134 | 188

Flange Mounting Type/CR-AXWF, CV-AXWF

Standard port
@FD Relief port
3\ & /@20, 325)
\ Ho .
‘Q ‘%‘ﬁ\,: @ ms SutTenseBz 2 Ece‘(%%nggso_s . -~
N ubtense B W 3
H_L — N / 7
‘_‘ VT
zzoF—Mmz ﬁH ‘% A S
7hs; I LT U
Relifport /| AT || | AT
cEaZ il Ry Wi 0
H LG+Stroke H+Stroke
LT+2X Stroke
(Unit : mm)
Bore Size |Standad Stoke| A | AT | C F |FT | N D E B1 | B2 MM H |H2 | G | P NN @1 | FD | NA | FL
20 5.5 |18 |155| 5 |13 | 4 1518 |2 0,0,033 13126 | M8x1.25| 5 | 8 | 8 |1/8| M20X15 |27 | 7 |24 | —
25 17255‘11‘2) 22 [195(55 | 13 | 4 | 15 | 10 [26 % | 17 | 32 [M10X1.25| 6 | 8 | 8 |1/8| M26x15 |33 | 7 | 30 | -
R | ysao | 22 [195]55 | 13 | 4 | 15 [ 12 |26 % | 17 | 32 [MI0X1.25| 6 | 8 | 8 | 1/8 | M26X15 |37.5 7 |345| -
40 250,300 | 24 | 21 7 16| 5 |215| 14 |32 90_033 22 | 4 | M14X15 | 8 |10 | 11 | 1/4| M3I2X2 |465| 7 |42.5]| 36
Bore Size|StandadStoke| FK | FM | B | H | LG | LT
20 550 160 | 75 | 34 | 41 | 62 | 144
o5 | ™' teo |75 |40 |45 |62 152
125,150
2 | o0 | 60 | 75| 40 | 45 | 64 | 154
40 250,300 | 66 | 82 | 52 | 50 | 88 | 188

668




657-671-AX 2012.9.7 4:2 PM s°]x]669 3I+ZFLlgt

—o—

Series CR ( C V)_AXR

LEEEE e M K]

CLEAN
Clean Series Small Cylinder/Direct Mount Cylinder e
AR
Bore Size : @320, @25, @32, B340 CRlcY
AQ2/ADQ2
X;IE(CV)
@ CYLINDER IN LOW PARTICLE GENERATION FOR
CLEAN ROOM CRICV
® PISTON ROD IS MADE IN THE MATERIAL CRCV)
QUALITY OF STAINLESS STEEL TO ENHANCE NGQL
RESISTANCE AGAINST MOISTURE AND OTHER CR&CV)
CHEMICALS. NLCD
@ EXCLUSIVE GREASE USE, DUST GENERATION IS %%f PEERED
MINIMIZED WHEN CYLINDER IS ACTING.
How to Order
CR(CV) AXR A 20 125 O~ ws O
5 B
CR : Relief Port Type Blank : Standard Type Band to Attach Auto SWItCh/PartS Number
CV : Vacuum Suction Type XC16 : Copper—free Bore Size (mm)
Type of auto switch
Small Cylinder(Direct Mount) Auto switch 20 25 32 40
Basic type : Built-in magnet Blank : None W5 TBM2-020 |TBM2-025 [TBM2-032 |TBM2-040
(cylinder with built—in magnet)
Mounting Reed switch
A : Bottom side mounting - Band attached type(grommet)
B : Front side mounting - W5
% The standard length of lead wire is 0.5m
Bore Size 3 For length lead wire over 3m, L is added
20 : 20mm 25 : 25mm to the end of part number. (EX) W5L
32 : 32mm 40 : 40mm % For length lead wire over 5m, please
contact us.
Stroke(mm)
20 : 25,50,75,100,125,150,175,200,250,300 Number of Auto Switches
25 25,50,75,100,125,150,175,200,250,300 Blank : 2 pcs
32 :25,50,75,100,125,150,175,200,250,300 S:1pc
40 25,50,75,100,125,150,175,200,250,300 N : N pcs
669

www. TPCpneumatics.com

www. TPCpage.com



657-671-AX 2012.9.7 4:2 PM s°o]x]670 3IHZFLAs

—o—

LEEEE e M K]

Series CR(CV)-AXR

Specifications

M Cautions for CR(CV)AX Cylinder

This product is usable in compliance with high

’ Bore size @20, @25, &332, B340
purity. Be sure to read the manual before
selecting and using the product. Refer to the Model Relief Port Type
common cautions for clean room and actuator. Vacuum Suction Type

Action Double Acting, Single Rod(non—lubrication)
Precautions on handling Port Size LAY 2, o2 Rc(PT) 1/8
) @40 Rc(PT) 1/4
© Warning Fluid Air

@® Touching the cylinder during operation should
be avoided when the cylinder is operating at a
high frequency, it is needed to be aware that
the cylinder tube surface could become very
hot, creating the risk of burns.

Proof Pressure 1.5MPa(15.3kgf/c)
1.0MPa(9.9kgf/cr)
0.05MPa(0.5kgf/crr)

—10C~70°C (anti freezing)

Max. Operation Pressure

Min. Operation Pressure
Ambient and Fluid Temperature - C(°F)

Cushion Rubber cushion basic
1. Space saving configuration. Piston Speed 50~400mm/s

Without using brackets, because it is a directly
mounted style, its overall length is shorter, and its
installation pitch can be made smaller, Therefore,
the space needed for installation has been
significantly reduced.

Mounting Bottom side, front side mounting type

Mounting type and ports list

2. Installation accuracy and strength improved. Ports List Standard type
3. Two styles of installation. Mounting Type Red End Nut
There are two styles of installation, and the styles Bottom Side Mounting Type 1EA
can be selected according to the purpose; thus the
front mounting style and the bottom mounting style. Front Side Mounting Type 1EA
Construction / Parts List
8 6 0 419 8 6
I
| |
=
| | |
i
Relief Port ‘ Standard Port
-l B
(Front Side Mounting)
No. | Description Quantity Material Note No. | Description Quantity Material Note
1 | Cylinder tube 1 Stainless Steel 10 | Mini_y packing 1 NBR
2—1| Rod cover—A 1 Aluminum alloy | Hard white aluminum 11 | Piston gasket 1 NBR
2—2| Rod cover—B 1 Aluminum alloy | Hard white aluminum 12 | Damper—A 1 Urethane Rod side atlaching
3 | Head cover—B 1 Aluminum alloy | Hard white aluminum 13 | Damper—B 1 Urethane Head side atlaching
4 | Piston 1 Aluminum alloy Chromate 14 | Stopper 1 Carbon Tool Steel
5 | Piston rod 1 Stainless Steel | Hard chrome Plated 15 | Snap ring A 1 Carbon Tool Steel| Nickel Plated
6 | Bush 1 Sintered alloy 16 | Wear ring 1 Resin
7 | Packing nose 1 Rolled steel Nickel Plated 17 | Rod end nut 1 Carbon steel Nickel Plated
8 | Rod packing 1 NBR 18 | Magnet ring 1 NBR+Ba Ferrite
9 | Piston packing 1 NBR

670




657-671-AX 2012.9.7 4:2 PM sllo]x]671 =LA Q) A} $ easEl [

Series CR(CV)-AXR

Bottom Side Mounting Type/CR-AXRA, CV-AXRA CLEAN
CRS:V)
FM(} =
&0 ! CRé V)
SN/ i
R ‘_% n & ﬁ AQ2JADQ?
ieliet por ~
e SZ CR(CV)
o | | AX
X
2-gLD ' 2-Re(PT)P CR‘_CV)
/ e \ / - AG
) Subtense BL'm( ! Aﬁ‘i
EEERES ) IRRRIE g;q ﬁg(ge/)
Tz - — T
:M?W}:im | Al 1]
T T T T = S T T
NS - o5 o CRICV)
Tl L LD
] i e ! Lo 958D
L H ' LG+Stroke CYLINDER
LT+Stroke
(Unit : mm)
Bore Sze | SandadSote] A | AT | B | BI | D | GA | GB|GC | H |HI | @] K] L LD HILK] MM | N
20 | %5 |18 [155(303|13 | 8 | 22 | 8 | 6 | 27| 5 | 27| 5 |335| @55,C/B@O.5Depth 65 | 15 | 21 | M8x1.25 | 24
2% 17;‘105[; 22 [195(363 |17 |10 | 22 | 8 | 6 |31 | 6 |33 |55|30| @66 CBO11Depth7.5| 18 | 25 | M10X1.25| 30
%2 | oo | 22 19542317 [ 12| 22 | 8 | 7 |31 6 |a75]55] 47| @9.cBot4Deptn10 | 21 | 30 | Mi0x1.25 345
40 | 2s0300 | 24 | 21 |523 |22 | 14 | o7 | 11| 9 |34 | 8 |465] 7 |58.5|@11,C/B@17.5Depth 125 26 | 38 | M14x1.5 |42.5
Bore Size | Standard Stoke| NA | NB ND P | LG | X Y LT
20 | 5% | 29 | 15 | 20 % |18 | 76 | 39 | 12 | 103
25 17:5"10; 29 | 15 | 26 % |18 | 76 | 43 | 12 | 107
%2 | oo | 2 | 15 | 26 "o | 18] 78 | 43 | 12 | 109
40 | 20300 | 37.5 | 215 | 32 %y | 1/4 | 104 | 49 | 15 | 138
1=
ﬁM oD
o
ACT T2
Relief por ——
M5X0.8 e L
4-FF GA ‘ 2-Re(PTIP
Subtense B1 / B
H1 — - f—
‘@ g = ‘ i H
AN = -
Y/ <F
A
& T N = |
o oSl = e |
O H LG+Stroke
LT+Stroke
(Unit : mm)
Bore Sze SenadSuiel A | AT | F FF K81 | DJGAIGB]GC] H [HI[@I[ K] MM | N|NA[NB] NDO | P |LG]|LT
o0 | % |18 |155(304| M5x08,Depthd |22 |13 |8 | 22| 8| 6 |27 |5 | 27| 5 |mex125] 24| 29 | 15|20 e 18 | 76 | 103
% 17:5"10; 2 [195(364| MEx1,Depth 11 | 26 | 17 [ 10| 22| 8 | 6 | 31 | 6 | 33 |55 |M10x1.25| 30 | 29 | 15 | 26 “oces) 118 | 76 | 107
2 | o | 2 |195]424| Mex1,Depth 1t |30 | 17 |12 | 22| 8 | 7 |31 | 6 37555 [MI0X1.25345] 29 | 15 | 26 Soqe| 18| 78 | 109
40 | soam | 24 | 21 [524 | M8x1.25 Deptn14 | 36 | 22 | 14| o7 | 11| 9 | 34| 8 [465] 7 | Miax15]425]37.5]215] 32 %o 174 | 104 | 138
671

www. TPCpage.com
www. TPCpneumatics.com



